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i 1.0 60k a 1.00 1.20
Ta 53.0 60.0 50
a
570 (a (Ta)
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(n[ 15[ 14 13[ 12l 115 1a] 105 1. ( n[ 15[ 14] 13] 12[ 115] 11
00 1.43| 1.44] 1.3f| 132[ 120 126[ 1.23] 120 0.0[ 685] 66.9] 653 636] 62.7] 618
05| 1.47] 142) 136 1.30{ 1.27| 124 121' 118 05| 68.0| 66.4| 648 631 62.2] 61.3
1.0 1.45] 140[ 1.34] 120] 126] 123 120] 117 10] 675[ 659] 643 626] 61.7] 608
15| 143 138[ 132 127] 1.24] 121] 118] 115 15] 67.0[ 654] 638 624] 61.2] 603
20 141] 136[ 131] 128[ 1.22[ 1.0 117[ 114 20] 665] 64.9] 633 616] 60.7] 598
[e) 25| 139 134] 120 123[ 121 118 115] 112 25| 660| 64.4] 628 611] 60.2] 503
30| 137] 132 1.2# 122| 119| 116 113 1.11 3.0| 655| 639] 623 606| 59.7| 588
i 1.22 1.2 35| 1.36] 131] 126 120] 118[ 1.5 112] 100 35| 65.0| 634] 618] 60| 59.2] 583
. . 40 1.34] 120 1.24] 110 116[ 113[ 1.11] 10§ 4.0[ 645[ 629] 613] 506| 587 57.8
450 132[ 127 122 1.7 15[ 112[ 1.00] 106 45] 640 624] 60.8] 59.1] 582 57.3
50 1.30[ 126[ 121 116[ 113[ 1.10[ 108 105 50| 635] 619] 603 586] 57.7] 568
55 1.20[ 124] 110 114] 112[ 1.00] 106] 104 55| 630] 614] 508 584[ 57.2] 563
. 60 127] 123[ 118 113[ 110[ 1.08[ 105] 102 6.0 625] 60.9] 503 576] 56.7] 558
1 1.0 6.5 1.26] 121] 1.16] 112[ 109[ 1.06] 104 101 6.5] 620| 60.4] 588 574] 56.2] 553
7.0/ 124 120) 1.15) 1.10§ 1.08| 105 1.03] 1.00 7.0| 615| 599| 58.3] 56.6] 557/ 54.8| 53.9] 53.0f
1.00 56.6 75| 123[ 18] 114 100] 106[ 1.04] 101] 000 75] 610| 59.4] 578 564] 55.2] 543 534] 525
* . 80| 121| 117 1.12{ 1.08]| 1.05] 103[ 1.00]_0.98) 8.0f 60.5] 58.9| 57.3] 556| 54.7] 538 52.9' 52.0'
a 1.09 1.10
5.6kN/m
2kN/m  4kN/m
5.67kN/m o 1.41kN/m
70%
Pt
* _ 0.383 ~,0.535 \ |; 0.265
Pt,* = 3.63] g 5N
0.406 p J; 0.333
0.383 0535 | |i 0.267 0789 p i 0600 1 112.2J N
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1
R g0.535
o 4. 26kN/m
Pt
60K 50N 40N
1000 R 70 60 52
APt tf 2 [500 R 1,000| 300kg/m 10 68 58 51
9 300 R 500 63 54 49
1000 R 86 73 63
9 2 1500 R 1,000 426kg/m 10 84 72 63
300 R 500 31 70 61
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